
© AZGARD SOLAR INC.

SunRanger Monopole
MP-4L & MP-8L 

UNIT 2, 34 WRANGLER PLACE SE | CALGARY, AB T1X 0L7 

www.Azgard.com | Phone: 403-236-5501

January 2025



© AZGARD SOLAR INC.

Monopole 8P System Includes:
1 Hardware package
2 Pivot plates (laser etched East and West)
Pile pivot adapter
2 Pile saddles
4 Purlins
8 Purlin Troughs
2 Beams 148"

Monopole 4P System Includes:
1 Hardware package 
2 Pivot plates (laser etched East and West) 
Pile pivot adapter
2 Pile saddles
2 Purlins 
4 Purlin troughs

1

2 Beams 58"



2



M
P

-
B

L
 

•
2
 C

o
lu

m
n

s
 

•

Is
o

m
e

tr
ic

 V
ie

w
 -

W
it
h

 S
o

la
r 

P
a

n
e

ls
 

SÏÆ
 1

:20
 

8
 S

o
la

r 
P

a
n

e
ls

 
• 

L
a

n
d

s
c
a

p
e

 L
a

y
o

u
t 

Is
o

m
e

tr
ic

 V
ie

w
-

Fr
a

m
e

 O
n

ly
 

S
c

al
e

 
1:

20
 

ITE
M 

NO
. 

I 
PA

RT
 NU

MB
ER

 
DE

SC
RIP

TIO
N 

!SO
LA

R P
AN

EL 
SO

LA
R P

AN
EL 

113
3m

m 
X 2

25
612

27
8m

m 
BE

AM
_12

GA
-M

ON
OP

OL
E-8

P 
12 

GA
 M

AIN
 BE

AM
 

P
IV

O
T
 S

U
N

R
A

N
G

E
R

 
U

N
IV

E
R

S
A

L
 E

A
S
T
 

12
G

A
 P

IV
O

T
 P

L
A

T
E

 -
E

A
S
T
 

PIV
OT

 SU
NR

AN
GE

R_
UN

M
RS

AL
 W

EST
 

12
GA

 PI
VO

T P
LA

TE 
-W

EST
 

PU
RL

IN 
PA

NE
L C

HA
NN

EL 
PIL

E P
IVO

T A
DA

PTE
R 

CU
STO

M 
FO

RM
ED

 C
HA

NN
EL 

PIL
E IN

SER
T 

PIL
E IN

SER
T F

OR
 1 

1/2
' BO

LT 
AN

D l
"BO

LT 
6 N

PS
 PI

LE 
SA

DD
LE 

PIL
E S

AD
DL

E-
6 N

PS
 PIL

E T
O 

PIV
OT

 PL
AT

E 
l91

28
3A

46
0 f

l 1
/1

' X
 6"'

 UN
C 

GR
S B

OL
T) 

I 
ME

DIU
M-

STR
EN

GT
H G

RA
DE

 5 
STE

EL 
HE

X H
EA

D B
OL

T 
10

 
11 1

/2
' UN

C 
GR

S N
IJT

 
ME

DIU
M-

STR
EN

GT
H G

RA
DE

 5 
STE

EL 
HE

X H
EA

D N
UT

 
11

 
11 1

/2
' GR

S F
LA

T W
AS

HE
R 

ME
DIU

M-
STR

EN
GT

H G
RA

DE
 5 S

TEE
L F

LA
T W

AS
HE

R 
12 

l91
24

7A
93

1 [
1"

X7
1/2

"U
NC

GR
SB

OL
T) 

13
 

ll"
'X

21
/4

'"UN
C

GR
SB

OL
T 

14
 

l91
34

2A
260

 /1
" U

NC
 G

RS
 NY

LO
CK

NU
T) 

15
 

ll"
UN

CG
RS

NU
T 

16 
ll"

GR
SF

LA
TW

AS
HE

R 
17

 
l1/

2"
X l

O'U
NC

GR
SB

OL
T 

18 
l1/

2''U
NC

GR
SN

UT
 

19
 

l1/
2''G

R5
 FL

AT
 W

AS
HE

R 
20

 
l6N

PS
PIL

E 

ME
DIU

M-
5TR

EN
GT

H G
RA

DE
 5 

STE
EL 

HE
X H

EA
D B

OL
T 

ME
DIU

M-
5TR

EN
GT

H G
RA

DE
 5 

STE
EL 

HE
X H

EA
D B

OL
T 

ME
DIU

M-
sTR

EN
GT

H S
TEE

L T
HIN

 NY
LO

N-I
NS

ER
T L

OC
KN

UT
 

ME
DIU

M-
STR

EN
GT

H G
RA

DE
 5 

STE
EL 

HE
X H

EA
D N

UT
 

ME
DIU

M-
STR

EN
GT

H G
RA

DE
 5 

STE
EL 

FLA
T W

AS
HE

R 
ME

DIU
M-

STR
EN

GT
H G

RA
DE

 5 
STE

EL 
HE

X H
EA

D B
OL

T 
ME

DIU
M-

STR
EN

GT
H G

RA
DE

 5 
STE

EL 
HE

X H
EA

D N
UT

 
ME

DIU
M-

STR
EN

GT
H G

RA
DE

 5 
STE

EL 
FLA

T W
AS

HE
R 

6 N
PS

 HE
LIC

AL
 SC

RE
W 

PIL
E 

NO
TE:

 M
ON

O 
RA

CK
ING

 HA
RW

AR
E A

ND
 SM

AL
L P

AR
TS 

NO
T IN

CL
UD

ED
 IN

 TH
E A

BO
VE

 BIL
L O

F M
AT

ER
IAL

S 

�
 

E
xp

lo
d

e
d

 V
ie

w
 -

P
ile

 C
o

n
n

e
c

ti
o

n
 D

e
ta

il 
S

c
al

e
 
1:

8
 

2½
"TY

PS
PA

CI
NG

 

E
le

v
a

ti
o

n
 V

ie
w

-
P
ile

 D
e

ta
il 

S
c

al
e

 
1
:8

 

Q
T
Y

. 

MFG
. TO

LERA
NC

ES
 

© 
AZ

GA
RD

 ĀÏ
 IN

C. 
Al�

 RI
GH

TS
 �÷

VE
D 

�
 

�
N

H:£
;:u

�
�

�
�

=
c:

��
O

O
N

I
 

e.
�W 

��
-

-
-

-
-

-
-

-O
 

f�
T�

OA�
 

REÍô
EO,

 EXC
EIr

 �´
 lH

E ëł
 PE

îê
O

O
 OF

 çą
 Ý¾

 I 
CR

EATE
D D

AT
E: 

! l
/8 

�
EOźǩ

OO,
�µW

Ha.
EO

IIIN 
³Đ

IS��
�ú

O 
cã

 2]
 20

24
 

A
Z'

G
A

A
O

 
S

O
L

A
R

 

AZ
GA

RD
 ÝÏ

 IN
C, 

,i.
�

Ĥė
 

:
,şġ

A
 

A
N

G
U

A�
 

!
l

"
 

M
a
ŊƬ

ri
n

g
 t´

n
d
a
rd

 N
Ôç

: 

CIA
SS¿^

BU
NL

ESS
ST

AT
ED

OT
liE

RN¥
SE

 
BAS

EO
ON

A0
,46

1(�
0R

AN
OA

RE
 

D
 

Po
le

 M
oo

nte
d 

Ra
ck

in
g 

8 
Pa

ne
l L

an
ds

ca
pe

 -
11

33
m

m
 x

 2
25

6/
22

78
m

m
 

G
en

er
al

 r³
an

ge
m

en
t 

N
H

O
�

I
P

Ô©
 

3



© AZGARD SOLAR INC.

Purlin Location
Before installing the purlins pre-mark both ends of the purlin with the slot that is 47 inches or the 24th slot
from the bottom ends of the purlin and 47 inches or the 24th slot from the top of the purlins.
OR
Center the purlins between the two horizontal beams. 

Beam length and location on the beam may vary depending on the solar panels used.

Bolt sits on the top of the slot Bolt sits on the bottom of the slot 

Top of Rack or North Side 

Bottom of Rack or South Side 

47” to slot
#24 from end 

47” to slot #24
from end 

Please note
you will have
4 purlins for
an MP-8 & 2
for an MP-4

Bolt sits on the top of the slot Bolt sits on the bottom of the slot

4



Note: there are 3 bolts per purlin trough 

© AZGARD SOLAR INC.

 

Purlin Trough (2 per Purlin) 

Purlin to Beam Bolt 

Bolt (3/8" x 1")
Washer x 2
Single Washer
Nut

IMPORTANT:

Purlin Troughs 

Purlin troughs attach where the purlin meets the beam both top and bottom.

Pivot Plate to Beam Hardware
1/2" Serrated Bolt
1/2" Serrated Nut

5



Solar Module Installation

Top Z-clip Hardware
3/8" x 1-1/2" short spring stud
3/8" flat washer
3/8" nyloc nut

Install the bottom (South)
 Z-clips to the lower end of the
purlins. 

The fender washer will be on the
bottom of the purlin with the Z-clips
at the top.

Bottom Z-clip Hardware
3/8" x 2-1/2"” bolt
3/8" fender washer
3/8" flat washer
3/8" nyloc nut

© AZGARD SOLAR INC.

Depending on the solar panel used you may wish
to trim excess purlin length on top and or bottom,
but excess purlin length may be left as is..

6



© AZGARD SOLAR INC.

Panel Bolting Detail 
Bonding washers may be used if bonding is required. Bonding washer only

required on one purlin per column of panels. 

No bonding washer. 
Fender washer on top only. 

Bonding washer inserted between
solar panels and bottom fender
washer 

MP-4: 1 column 4 panels
MP-8: 2 columns 8 panels

Spring-bolts with 3/8" x 2-1/2" studs, placed into the purlins,
A 3/8" fender washer,
An AKS bonding washer,
Two solar modules placed - one of either side of the protruding stud, 
A fender washer placed on to the stud,
A 3/8" Nyloc nut installed and torqued to 12-15lbs. -ft once solar panels
are in position on each side of the fastener.
IMPORTANT: DO NOT OVER-TIGHTEN THE PANEL NUTS.
Overtightening may shatter the solar panel.

7



© AZGARD SOLAR INC.

Spring Clip Installation Note:

IMPORTANT! When installing the solar panels on top of the spring clip bolt, sliding
the panels along the spring clip bolt may cause the bolt to turn and unlock from
the purlin below.
 
After installing the washer and nut on the spring clip bolt, check that the length of
the bolt is consistent with the others. Pull on the solar panel to be sure the spring
clip bolt is locked in place. 

The solar panel will lift off if the spring clip bolt is not seated correctly. 

Solar Module Installation 

The clip should
remain within the
trench of the purlin 

If the clip has popped
out of the purlin, you
will be able to tell as
the spring clip bolt will
be protruding out
further 

8



© AZGARD SOLAR INC.

Thank you for your purchase! If
you have any questions

regarding these instructions,
please contact our office 

Office Address: 
Unit 2, 34 Wrangler Pl
SE Calgary, AB T1X 0L7

Patrick Fulawka 

Cell: (403)-815-8515 
Office: (403)-236-5501 

See our website for installation videos:

www.Azgard.com/videos 


